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Engineering Problem Set 2
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A building has a floor plan as shown below.  What is the area of the buildings foot print?

2. A weir in a causeway has a width of 6 feet and a height of 4 feet.  How many cubic feet per second will come through the weir?

3. Solve the set of equations below using MathCAD.
a)find y if x=15

y = 7x2 +2x -6
b)find T if Q= 15 and R=12

Q = 0.85T + 9R
c) Find i for P= 2, R1=2700 and R2=1500


P = i2R1 + i2R2
4. Solve for x if y= 512.

y = x3 
5. Solve the problem below using MathCAD.  Copy and paste your results into Word and develop an Engineering Problem Paper.  Turn paper in through the Digital Drop Box.  Project is worth 20 Points toward the grade.
The equation below represents the temperature voltage relationship for a new electronic temperature sensor by the ACME Sensor Company.   The CEO, a Mr.  W. Coyote, has commissioned you to provide a graph of the temperature vs voltage over the range of 0 oC to 400 oC.  

V= aT2 + bT + c   where the three coefficients  are 
a= 2.3 x10-2    b=1.08     c=1

